M

CANSA
et

KARINCA-500

FnyboKopbixnuntenno



http://www.cansatarim.com.tr/




Lay6oxopbixaunrtear KARINCA-500

Ne KOJ Ha3Banue T
1 5DK-A10-01-00 |OcuogHoii kopmyc KARINCA-500 1
2 DK-B10-01-00 | Croiika 5
3 5DK-C10-00-00 [IIpukarbiBaromme KaTKu 1
4 DK-D10-00 IMuapoumunusp 2
5 DK-C10-06 Kpemnenne ruipoiiinHapa npaBoe 2
6 DK-C10-07 Kpemnnenue rugponuiaunapa JeBoe 2
7 DK-00-04 [Tanen 4
8 226022903 GUPILYA 5X32 G 4
9 2021010 Bonr M20X80 G 4
10 |2180411 [Iait6a M20 G 6
11 ]2150711 laitka M20 FIBERLI 6
12 | DK-00-01 Cko0a 20mm 14
13 [2021020 Bonr M24X90 G 36
14 [2180413 [Iait6a M24 G 36
15 2150713 laitka M24 FIBERLI 36
16 |DK-00-02 MERDANE BAGLANTI LAMASI 2
17 [2020815 CIVATA M16X100 G 2
18 |DK-00-05 MERDANE BAGLANTI LAMASI BURCU 2
19 [2180409 PUL M16 2
20 2150709 SOMUN M16 FIBERLI 4
21 12020810 CIVATA M16X70 G 2
22 | DK-00-06 HIDROLIK PISTON HORTUMU 4
23 | DK-00-07 T LIPEL 5/8 2
24 | DK-00-08 HIDROLIK HORTUM ON 2
25 |DK-A10-13 [Taner TpeXTOYKN BEpXHUI 1
26 2250103 YAYLI PIM 8§ MM 11
27 DK-A10-12 [Taner TpeXTOYKN HUKHUN 2
28 12021013 CIVATA M20X90 G 2
29 |DK-C10-11 [tudt croitku 1
30 12310201 [rmuaT 1
31 |DK-00-02-00 Croiika 1
32 2270104 GRESORLUK M8 DUZ 12
33 |5DK-00-09-00 |KIZAK SACI BAGLANTI KOLU 4
34 |5DK-00-11-00 SOL KIZAK SACI 1
35 |5DK-00-10-00 SAG KIZAK SACI 1




11

13




Ocnosnoii kopnyc KARINCA-500

Ne KOJ HaszBanue T
1 DK-A10-02-00 | OcnoBHO¥ ipoduiib 2
2 DK-A10-03 PRFOFIL BAGLANTI SACI 2
3 DK-A10-06-00 |3 NOKTA ASKI KAFA SAG-SOL 2
4 DK-A10-04-00 |BACAK BAGLANTI 2
5 DK-A10-07-00 JGOVDE SACI 1
6 5DK-A10-16-00 |BepxHuuii npoduib KOPOTKUI 1
7 5DK-A10-17-00 |Bepxuuii mpoduis JIMHHBINA 1
8 DK-A10-08-00 JUC NOKTA ASKI SACI UST 1
9 DK-A10-11 MERDANE BAGLANTI SACI 2
10 |DK-A10-04-02 |Ckoba 8
11 2020808 MCIVATA M16X60 G 36
12 121800409 PUL M16 G 44
13 [2150709 SOMUN M16 FIBERI G 44
14 12020812 CIVATA M16X80 G 8
15 |5DK-A10-03-00 |KIZAK SACI BAGLANTI ELEMANI 4




19




IHPUKATBIBAIOIIUE KATKHA

No KOJ Ha3zBanue T
1 |5DK-C10-01-00 |Karok 2
2 5DK-C10-12-00 [IIpoduns kaTka 1
3 |DK-C10-02-00 |MERDANE BAGLANTI KOLU 2
4  |DK-C10-04-00 |MERDANE YATAK BAGLANTI ELEMANI 2
5 |DK-C10-05 PROFIL BAGLANTI ELEMANI 2
6 [2212137 MERDANE YATAGI UCF 210 4
7 |DK-C10-09 YATAK SACI 4
8 2020812 CIVATA M16X80 G 8
9 [2180409 PUL M16 G 24
10 2150709 SOMUN M16 FIBERLI 24
11 {2020810 CIVATA M16X70 G 8
12 ]2020806 CIVATA M16X50 G 8
13 [226022903 GOPILYA 5X32 G 2
14 |DK-C10-11 MERDANE ACI SABITLEME PIMI 2
15 |DK-C10-10 PISTON BAGLANTI ELEMANI 4
16 |2150711 SOMUN M20 FIBERLI G 4
17 2180411 PUL M20 G 4
18 |DK-C10-08 PISTON BAGLANTI BURCU 2
19 2021016 CIVATA M20X120 G 2
20 [2021015 CIVATA M20X110 G 2







CTOHNKA

Ne KOJ Ha3Banue 1116y
1 DK-B10-02-00 | Croiika (BepXHsis 4acTh) 1
2 DK-B10-03 Croiika (HM)KHSS 4acTb) 1
3 DK-B10-03-00 |JIe3Bue meHTpampHOE 1
4 DK-B10-04-00 |} doisoTo 1
5 DK-B10-05 Jle3Bue 1eHTpaIbHOE 2
6 2020610 Boxr M12X65 G 4
7 2180407 [lait6a M16 G 4
8 2150707 laitka M16 G 4
9 2021020 Bonr M24X90 G 1
10 12180413 [Iaii6a M24 G 1
11 2150713 laitka M24 FIBERLI G 1
12 12020713 Boxr cpeiBHOI M14X90 G 1
13 12180408 [lait6a M14 G 1
14 12150708 laiika M14 FIBERLI G 1
15 12020411 bonr M8X60 G 2
16 ]2180405 [lait6a M8 G 2
17 12150705 Taiika M8 FIBERLI G 2




